WS : 002606 W TRIFR: KEHE NEYT: 2017-035

REBREFABRBAERAR
KTEHREBRRERBERITRALEY = RBAE

A 2 e PR S B AR RS . 2, B
REBACH R T IR A B K .

NN E E A T SRR, S mlakeR, 9o m) AR B R

Yeato FEATI AR EHEE MRRE LM, AriEHNESR
B R GTRAT IO B 7 o BARTE DL T

—.  EAHEM

1. $BREEE

O E IS FH e A AR 10,000 FEIN B AA RS (A4 #HR
AFARRUS BRI = (5 2016 4F 12 H 31 HA R K8 HH %71 11.81%). 78 -
REER, BEan] LRSI

2 B

DR, 2 F1AE FH R B R P 2 R S P AR KU« (R AR 2 (1 AT 2
WA= o LA LR A 58 4 R R P T SCERAT R XU B 7= 5, AN THIE SR 48 %8 o

3. BHHIR

PR B AR B30I 2 R — AR A A R B AN RAT R RS BRIV =
B RAEY 12 1 H.

4, BRI

O3 ) FH T ARAT ARG XU B0 7 R R I 5 4 A W Bk I B B A B 4

=N XRHERRE

1. v ERRRUE, BBA R &8 S B EAT AR 3 R 2 2 A
KEFSA . AT EBHTTHLSLM, RIEA TR RS, B 524
o SRR AN 25 15 00 e R A0 (R BRIV =, E A W) U 55 47 B N AT WA S R
Ktk

2y ISR B oy A AR ER BRI P ] R AE G, NP R AR AE

1



] RERGI A W) B 4 22 A B 1E 4 8 4 TR R IR, 4 S SR EURR 2 (R it )
SR T R

3. WAL EH, WMHESAPTRSMEABIIAT IR SRE, BiiEAr#E
PR, ORUEFEE 55 B 0 22 R AE RO8GAE, 6 Z2 AT DUREHE T VLA AT B 1o

4 R 10, 000 J5 76NN B H A 5540 PR T8 SEARAT AAT A HMEC XU
PRIV it o

=, WAFKIEW

L. TERF G I S HE I S AR BT R & 2 T T, ERIEA R HE S
BIBEEE RS T RGN, A N B A S0 AR T3 5447 R AT
T U R 7=, BE RS F 4R 0 R, AN BN 2 ] 8 8 4 1 R T 2
ANFEMA 23w 3NS5 I IR KRR

2+ B IS BRI, RS A R RIS — e R RIS, ITRE— bR
T m| BN GUK, 9 A IR PEECE 22 3% B2 [l

M. XTFHYREREF

NFEIIR (TN B B A 7 SRR IRAT IR ™ s ) e&
2017 423 H 29 HEFME ZmERSE RS B mEFELEHRaw
BRSO . ST AT B P SO SR R, AR ORI, ARIIZHNE B
AT HEAT BRAT AR XU B 7 i BT T A b B S SR AN N A Ik — Jf o
BB, A IRATE i, DA RSB APRAR S IR IINES7 58 5 i (¥ AH
ST, SRR A DA T DA SAH AR 28 1 VO o

F. MrEEREN

AT HATAERE N RLF, WEIROAE, rBIEIasias, ERIEA A IE
WAEREFRMESZAMRHT, N E 56 TSR T RAT R XS IR0 =
i, JEAT T BB E R T 18 N B B Y B RAT IR LM R R T
fem e AR, WinaE, S, BASEmAR REWSKE. B4
FAERE AR AR, Rl TN 28 1B T .

R, —HAEARAERFSHIGET 2 U —FERNMEHA BT AR T
10,000 F7CM N B A B4 RS MSLHATIRRB B = &, 78 EIREEE Y,
B E ] LRSI

AN BEXH



L CRIERRER RN A RA A S = mHEF A+ RS0

2. (RIERRERBIM AR 72 = Jm I FH 250 IR R

BARNIERERLB M ERAF MU HEFH TR = EFH RS
FRFI AL D o

/AT

RIERREARMARAFHEF
—O—tHFE=H=1+H





